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Print ResponseSheet

KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number
Name of the Candidate

Examination Name KVS PRT 21 FEB SH1
Exam Date & Time 21-02-2023 09:00:00

Subject : GE_Q01-Q10_PRT21FEBSH1

Question ID:- 1

ACCUMULATE

Choose the word which is similar in meaning to the one given above.
(1) Accuse

(2) Predict

(3) Store

(4) Accord
Options:-

.1, Option ID :- 1,
« 2, Option ID :- 2,
« 3, Option ID :- 3,

« 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

TIMID

Choose the word opposite in meaning to the one given above.
(1) Bold

(2) Cool

(3) Refined

(4) False
Options:-

.1, Option ID :- 5,
« 2, Option ID :- 6,
« 3, Option ID :- 7,

« 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3

Identify the part of speech of the underlined word in the following sentence.

Hand to hand fighting took place in Galwan Valley.

(1) Noun

(2) Verb

(3) Adjective
(4) Adverb
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Options:-

.1, Option ID :- 9,

« 2, Option ID :- 10,
. 3, Option ID :- 11,

« 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

She is writing a letter.

Choose the option in which VOICE has been correctly changed into Passive Voice.
(1) A letter was being written by her.

(2) A letter has been written by her.

(3) A letter was written by her.

(4) A letter is being written by her.

Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,

« 4, Option ID :- 16,
Answer Given:- 4, Option ID : -16

Question ID:- 5

The teacher said, “Why are you late today, Sheela ?”

Choose the option in which Narration in the above sentence has been correctly changed into
Indirect Narration.

(1) The teacher asked Sheela why was she late that day.
(2) The teacher asked Sheela why she was late that day ?
(3) The teacher asked Sheela why she was late that day.
(4) The teacher enquired Sheela why she was late that day.

oy

Options:-

.1, Option ID :- 17,
« 2, Option ID :- 18,
. 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6
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Choose the option in which the jumbled words given below have been formed into a meaningful
and grammatically correct sentence.

(A) must know

(B) can help you,

(C) all the facts

(D) Dbefore I

(B) I

(D) (B) (D) (O (A) (E)
(2 (D) (B) (E) (A) (©)
(3)  (©(®B) (&) (E) (D)
(4 (A)(© E) (D) (B)

Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
. 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7

Identify the part of the sentence given below that has an error in it.

Has either of you saw my book ?

@ (b (©) (d)

(1) ()
(2 (b)
(3) (9
(4) (d)
Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
« 3, Option ID :- 27,

« 4, Option ID :- 28,
Answer Given:- 2, Option ID : -26

Question ID:- 8

Fill in the blank in the sentence given below by choosing the correct option out of those that follow :

At the time the phone rang, she

the table.

(D)
(2)
(3)
(4)

has been laying
was laying

has laid

had been laid

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
« 3, Option ID :- 31,
« 4, Option ID :- 32,
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Answer Given:- 4, Option ID : -32

Question ID:- 9

Fill in the blank in the sentence given below by choosing the correct option out of those that follow :
Covid-19 has again in China.

(1) broken out

(2) broken off
(3) broken up
(4) Dbroken with
Options:-

.1, Option ID :- 33,

« 2, Option ID :- 34,

. 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10

Fill in the blank in the sentence given below by choosing the correct option out of those that follow :
I promise to you when I visit Delhi.

(1) call up

(2) call at
(3) callon
(4) call for
Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_PRT21FEBSH1

Question ID:- 11

== fau U TN o uge gaifys sfaa fawey @1 994 Fifen -

el =t woeand sga-df § i 9t & | 2ifer <78 we off el 7 & S oig R ek e A g@ At
ST TRt & | Eel 27Ut o @Rt e <1, 3% et fearfa W Sie €, 7@ & g st fo 3o fore s gam
v €27 & i o 39 feafa § wgen < =ifen, ST o o1oH Ween @i 319 @ ¥ g | |

e H feRAent guensi @ Seoid ¥ 7
(1) @TeTehi =l

(2) T

(3) Temi=t

(4) = TE
Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
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. 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

== feu 7T Ty 1 Yt Haiiye 3fad faswed w1 994 wifen -

el =t woeand sga-df § o 9t & | 2iferT <78 wer of Tl 7 & < oig R ek e A g@ At
ST Hehdt 81 | Teet o7 o <Rt foren <1, 3% et feafa W Be S, 9@ & g e f 3o fore s gem
v § 27 & i #1 39 feufa § ugwn < =ifen, STl o STo WHen i 319 @ ¥ g Ha |

e =1 STg w0’ =T a1 T B ?

(1) e s =afam sTgm & €1

2) T & gued wed % faw @ & S g
3) foran sifq offe woeamd wore o S 21

(
&
(4) T grEaTd gergn Tahdl 7
Options:-

.1, Option ID :- 45,

« 2, Option ID :- 46,

. 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

== feu 7T TRy i Y Haitye 3fed fawed &1 994 Hife -

el =t wreand sga-Hf § 3R 79T 2 | eiferT 78 ueh off et 7 & S S R uek e A g@ Ay
S T 8 | e sTa el &1 fren &, 3% el frafa m Sie ), 99 9 g aandt fR o7 fore e gem
TTered § 2 B ARl 1 3 feufa § 98 <1 =few, Sl 9 oot ween i o1 @ § gors ek |
TNV & FTER ol 5 sa qmed © e d
(1) T9 gHEA W gersh el ¢ |
2) &Y GHTS 1 W Rl Fehdl € |
3) w@E & gl St @l forfea el |

(
(
(4) THS YR R g S Gl § |
Options:-

.1, Option ID :- 49,

« 2, Option ID :- 50,

. 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 1, Option ID : -49

Question ID:- 14
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== fau U T o 9ge Haityes sfad faswew w1 994 Fifen -

el =t woeand sga-di § ot el & 1 <ifer <78 we off Tl =l & S oig it vk e A g@ At
ST TRt 1 | Eel 27U o <Rt et <1, 3% et fearfa W Be S, 7@ A g sand foR 3o fore s gam
Tevae €27 & i 1 39 feufa § ugen < =ifen, STl o 1o WHen &l 810 @ ¥ g | |

‘o @ T GUR 1 S 98T TR § | T8 e
(1) gofd: weiep #1

(2) YU TG R

(3) ifeer w9 G fa=amei g

(4) 7iforr €9 HIG T

Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15

= faw T e B veE Wil 3 fawed w1 = wifeg -

ool =t ot sga-ot € ofiy el & | cifer < wap off Wit 7 & S oig o vee e’ A g At
ST TRt B | Weel 7o o s foren <, 3= et frufd W sie @), 79 9 g sandt foF 3 fore e gur
sTrerees § 7 o i & 39 feafa 6 98w S =ifen, et @ 1o ween @ o1 2 9 g W |
‘o’ § = = foR v 2
(1) s wa
(2) fafem
(3) Hr@E
(4) faer
Options:-
.1, Option ID :- 57,
« 2, Option ID :- 58,

« 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16

ToHH 9Isg 1 STl & -
(1) &R

(2 TR
(3) TR
(4) M

2

4

Options:-
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.1, Option ID :- 61,
« 2, Option ID :- 62,
. 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

‘geft’ 1 qHTETE g Tl §
(1) @

2 fs=

(3) fagm

(4) STH
Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
« 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

TR A s
()

(2) B

(3) HHAI

(4 ==
Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

2F+38 I G G 977 16T IS |
(1) <o

(2) <=ER

(3) wElig

(4) A=

Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
« 3, Option ID :- 75,
« 4, Option ID :- 76,
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Answer Given:- 1, Option ID : -73

Question ID:- 20

“HireT | e i e feu | 9 3 Yifed 319§ #Ra ©

()

(2) HHSH

(3) TR

(4)  SrfareRm
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
« 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_PRT21FEBSH1

Question ID:- 21

Which of the following is NOT secured to the citizens of India by the Preamble of the Constitution
of India ?

(1) Poltical Justice

(2) Liberty of Faith

(3) Equality of Income

(4) Dignity of the Individual

YA % TEHM Sl YEIEE 57 9Ra AR ) Frefofea § 9 9 giafve T8 s g2
(1) TeHfas =

(2) ST Sl =

(3) ST I HHE

(4) =T 1 A
Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
« 3, Option ID :- 83,

« 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

Which of the following Indus Valley civilization sites is not in India ?
(1) Kalibangan

(2) Rakigarhi
(3) Lothal
(4) Mohenjo-Daro
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Ty |TeT |y w1 hHA-H A WA H e w8 ® 2

(1) =wrerE

(2) TEATE

(3) whgd

CR F S HE
Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
« 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23

What is the World Social Forum founded in 2001 ?

(1) A network of countries with socialist constitutions

(2) A global civil society platform opposed to neo-liberal globalization
(3) Annual global meeting of scientists devoted to humanitation causes
(4) International committee to counter terrorism

T 2001 § Tenfud Se€ e BRY F1 § 2

(1) FH=ERE! SfauEl g <0 1 T J2ah

(2) Ta-3€R A H foly F3A aren uE afvas fofaa drmedt wewd
(3) wFetd o ufd w9fia Safeni @i aiftes afvaes oo

(4) SAidshars =l Gerreren i Al sarera |iafa

Options:-

.1, Option ID :- 89,

« 2, Option ID :- 90,

. 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24

Which of the following is/are source/s of rayon ?
(1) Coal, water and air

(2) Polyester and cotton
(3) Wood pulp
(4) PET (Polyethylene terephthalate)
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TF & T B9 § 2

(1) e, 9 iR &

(2) et 3R ™

(3) TS I

(4) TEE. (el 2Rikamete)

Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25

Which of the following solutions help in identifying the presence of starch (carbohydrates) in a
food item ?

(1) Diluted Iodine solution

(2) Copper sulphate solution
(3) Solution of caustic soda
(4) Diluted solution of potasium permanganate

et @ o] § = (FEiEEee) &l Ul i 989\ #H H A H1 faes Herd i § ?
(1) @7 sTEEH faem

(2) IR Fehe faer
(3) i drel faeaa
(4) HRIREE YT 1 a1 faead

2

Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

« 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97

Question ID:- 26
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Match the deficiency of vitamins and minerals in List-1 with disease/disorder caused by them in
List-2.

List-1 List-2
(A) Vitamin Bl (I)  Bone and tooth decay
(B) Vitamin D (I) Beriberi
(C) Iodine (IIT) Rickets
(D) Calcium (IV) Goiter

Select the correct answer using the codes given below the lists :

1) (A1), (B)-(II), (O)~(Im), (D)-(IV)
(2) (A1), (B)-(I1D), (O)-(IV), (D)(I)
(3)  (A)-IV), (B)-(IM), (CO)-(IT), (D)-(I)
4)  (A)-IV), (B)-(D), (O)-(ID), (D)-(1I)

Wei-1 ¥ fou 7 faerfei siv @fsii 1 geit-2 § 7 &4 & gr 3= fomdl/fomfa & faem =i

-1 -2
(A) foerfam &t 1 (I) e<EN 3R g7 =1 &=
(B) foeifam €t () s-eil
(Q) M () Terew
(D) hfcsray (IV) TTermUe

o A QU 7T e 1 TAF FTd L Tel ST H1 T4 SHIeT

(1) (A)-(D), (B)-(1), (C)-(I), (D)-(1V)
(2) (A)-1D, (B)-(IID), (O)-(IV), (D)-(T)
(3) (A)-(IV), (B)-(IL), (C )( ) ( )-(D)
4)  (A)-IV), (B)-(1), (C)-1D), (D)-(II)
Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
« 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

Which two countries stood first and second in the International Boxing Association Youth Men's
and Women's World Boxing Championship held at La Nucia, Spain, in November 2022 ?

(1) India and Spain

(2) Spain and Uzbekistan
(3) Uzbekistan and India
(4)

4 India and Venezuela
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FAER, 2022 H o g, WF H e seevEe difeEn THIiEwE 9y HY 3R gHY gee aifedT
AfegrAfem H weet ol g T W HH-H 9 w2

(1) 9Rd AR 1

(2) A 3R ITEfEEE

(3) SSEATEH #HRX YRd

(4) WRA SR FAUen

Options:-

.1, Option ID :- 105,

« 2, Option ID :- 106,

« 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Who among the following was awarded the 315! Saraswati Samman award for the year 2021 ?
(1) Govind Mishra

(2) Vasdev Mohi

(3) Ramdarash Mishra

(4) Vishwanath Prasad Tiwari

Y 2021 % U 31 9 FwEEd G [EERR TR are gl ?

(1)  Tife= fasn

(2) EERE HREl

(3) e fag

(4) Tavemy yoe faard
Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

« 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29

Which film won the best film award in the 53" International Film Festival of India (IFFI) 2022 held
in Goa ?

(1) ‘I have Electric Dreams’

(2) ‘Noend

(3) ‘Perfect Number’

(4) “When the Waves Are Gone’
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e § TR 53 & AR YR fhed Teiddd (3. Uh.UF.3TR. ) 2022 § Te9= ffeq &1 giR
Ty frew =t figen 2

(1) ‘o ¥a geifagen g’

(2) l:ﬁ@.:

(3) ‘Ut TR

(4) ‘o T dem SR T’
Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
« 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Question ID:- 30

National Cadet Corps (NCC) celebrated its 74th anniversary on which of the following days ?
(1) 27 November 2022

(2) 26 November 2022

(3) 1 November 2022

(4) 10 November 2022

T Hfge Fiw (THELHL) T 210 74 o Fve fey fea w7 2

(1) 27 TR, 2022
(2) 26 TR, 2022
(3) 1 7E=R, 2022
(4) 10 T, 2022

Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

Subject : RA_Q31-Q35_PRT21FEBSH1

Question ID:- 31

How many 5's are there in the following number sequence each of which is immediately preceded
By 2" or ‘3’ and is immediately succeeded by ‘7 or ‘8" ?

358525735825H63575b

(1) 4
(2) 5
(3) 3
(4) 2
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Frefafaa 9en &0 8 8 ffas 5 § 999 9 9% & U Teel ‘27 91l ‘3 & SR U g | 17
377ET ‘8’ Bl ?
358525735825635755

(1) 4
(2 5
(3 3
(4) 2
Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32

Geeta moves 60 metres in north from her home and then turns right. After walking 90 metres she
reached Traffic signal. Then she turns right and moves 100 metres to reach market. Her college is
60 metres to the east of the market. In which direction is her college from her home ?

(1) North
(2) South
(3) North - East
(4) South - East

T 319 X W 3T ht 1R 60 Hiew Fewet € i R S oI =t ¥ 1 90 WeX 9e % 9, 9% U <tk
forer W a1 81 5 9 o gudt @ iR SR 99 % faw 100 Hiex SAdt § | SHeE Fiorst SR 9 60
Hiex g H § | W Hicts =R o fagn 7 2

(1) S
(2) =fem
(3) SW-
(4) <o
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33
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Nine friends M, N, O, P, Q, R, S, T and U are sitting in a row facing South, not necessarily in the
same order.

U is to the left of M and at the third place at the left of N. T is at the end of the row. Q is between
O and P. O is at the third place at the right of T. S is immediate right of O.
Who is sitting between M and N ?

(1) R
(2 S
@ T
4) U

F 17 M, N, O, P, Q,R, S, T 3R U us dfem H gfeqmr &t i §g &t 9ie € fohg 3 3ot w1 & 78 &2 B
U, M & a1 31R € 991 N & o 3iR e T W oS 81 TUa & 3fq § sa1 81 ‘Q, ‘O 8i ‘P & sir"
H 1 O, T S IR el T W1 S, 'O’ % THeH Gl iR §1 M iR N & g i 981 gan & ?

H R
(2 S
(3 T
49 U
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

« 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

Given below is a question followed by two statements numbered (I) and (II), each containing
some information. Decide which of the statement (s) is/are sufficient to answer the question.

Q: On which day of the week did Riya arrive ?

Statement (I) : Her mother correctly remembers that she arrived before Wednesday but after
Sunday.

Statement (II) : Her sister correctly remembers that she did not arrive on Monday.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone
is not sufficient.

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient.

(3) Both statements (I) and (II) together are necessary to answer the question.

(4) Both statements (I) and (II) together are not sufficient to answer the question.
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e wep oA fezn e 2 ok e < e (1) iR e (1) f5u e E e | vl d e e € T
21 =g fofa ifse fm @ qud e 999 %1 SW S & fag waia 872

Y : fron wae & foeyg fe o1 o ?

HYA (1) : 3T H 1 T § AR T o6 98 g9ar ¥ vee fohg Foam & a8 o1 ot |

HeF (I1) : SHF 92 1 Ual © =g ¢ o 98 an 1 78 o8 of |

(1) <R (I) STt U9 1 ST & & fow qars & <19 T shem (1) kel 7aia =&l 8

(2) YA (II) 3Tk T F1 IA 24 F fau 7ara € 5@ foF e (1) a1hel v 7l §

(3) YA (I) 3R (1) SHI T I97 1 IW 21 & fow srewas 2|
(4) =R (1) 3R (11) SHT foereRt 999 =1 SW &4 % fou gt 72 €1
Options:-

.1, Option ID :- 133,

. 2, Option ID :- 134,

. 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

Select the option which best illustrates the three given classes.
Singers, Swimmers, Engineers.

.AD O
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Y fomrey 1 g S few e = ol * gey # gae €9 9 g9 €

(D)

(2)

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT21FEBSH1

Question ID:- 36

Which of the following video teleconferencing software is commonly used on Windows System
and owned by Microsoft ?

(1) Meet

(2) Webex

(3) Go To Meeting
(4) Skype

frafafeg § 4 fog difed SelmahRfEn died R =1 amdr R faE faen § wam fen s @ @in ag
HEHETR & @i are 8 2

(1) e

(2) S

(3) T2 Hife

(4) ThIE
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,
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« 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

What is the default web browser used with a Microsoft Windows 10 machine ?
(1) Edge

(2) Mosaic
(3) Opera
(4) Safari

T HrehTETR fHEs 10 99 % |1y ygF fewee 99 aesh %iE 9 8 2

(1) ©s
(2) HISE
(3) Sha
(4) HERT
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

« 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38

Expand the term EPROM :

(1)  Electronic Programmable Read Only Memory
(2) Erasable Programmable Read Only Memory
(3) Electrically Programmable Read Only Memory
(4)

4 Erase n Program Read Only Memory

g it $TR 3t ©9 (EPROM) I T A1 &1 & ?
(1) sraite gumee de el Jar

(2) EEEd YEmEEe i e JE

(3) seiforzeredl ARTHa {e el HH

(4) =S T UM O A HERT
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
« 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39
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Which of the following file format is not supported in Windows Media Player ?

(1) .mp3
(2) .pdf

(3) .wma
(4) .wmv

faers Hifem R ° +F 91 wEd ®He T T8 T & 2

(1) .mp3
(2) .pdf
(3) .wma
(4) .wmv
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
« 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Which of the following feature is present in MS-PowerPoint but is not included in MS-Word ?
(1) Transitions

(2) Tables
(3) Zoom
(4) Formatting

TUH TH YE-9Ee § UF ®F 91 Hi=l Sufeed 2§ S U tE-9 | wnfaa 78 & 2

(1) iforr

(2) o™

(3) SH

(4) TRIHT
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PRT21FEBSH1

Question ID:- 41
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What is the role of Primary socialising agency in Education ?
(1) Formal Learning

(2) Development of skills

(3) Socialisation
(4)

4) To inculcate values and beliefs

oo o &131 H qrefies SrTSiieRt USidl &1 o Yfier € 2
(1) Sho=nfen st

(2) o o

(3)  HTHTSIEHRLT

(4) WA SR ArEel w faewfad s
Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

Question ID:- 42

Which one of the following is secondary socialising agency ?
(1) School

(2) Family
(3) Society
(4) Media

Fr=ifera 5§ @ foeites Sty usidt § 2

(1) g«
(2) dYRER
(3) HHS
(4) Hifem
Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

@ Teachingninja.in



How can you bring Home and School together ?

Through :

(1) frequent meetings with parents
(2) meeting of peer members

(3) teacher’s conference

(4) seminars in schools

19 T iR faarem #i fFg yr tE gy e ?
(1) H-Toe § IR-a1 S HTeh |

(2) EHFEH HeE ¥ faet

(3) SAEATYehI oF HEHOH & HIEAH H |

(4) Tomme § Gt 1 SAESHE F: |
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 4, Option ID : -172

Question ID:- 44

The role of PTA in school is :

(1) to discuss the student problems with the management.

wha H aAfyvress faees g9 (dET ) =t @ qfie 82

(1) Tornfef=i =t wwesdi & sR o geaT § famgd

(2) That & faer % fou s g o
(3) THe % HAHH H WHA S

(4) TH % FRHA H 2 e

Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
« 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

(2) to give constructive suggestions for school development.
(3) to attend school programs.
(4) to find fault with school programs.

Question ID:- 45
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Which one of the following could be community resource in learning ?
(1) Cinema hall

(2) Temple
(3) Horse stable
(4) Fire station

Treifera § 9 @0 s =1 eI HEeE 8w 2 2

Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
« 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

Question ID:- 46

According to NEP 2020 Balavatika is

(1) Education received from age 3 - 5 years

(2) Education upto class VIII

(3) Education received in primary stage from class [ to V
(4) Education received from age 5 to 10 years

e foen Hifd, 2020 % STER AEETies F2 E ?

(1) 39539 d% =l 3 H 91 foran

(2) 8 e aek e

(3) wrafheh shensti § wgelt § iwdl e oo w2
(4) 59 10FY d Hl A1 H 9 foraq

Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
« 3, Option ID :- 183,

« 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47
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‘Spenser” described education as :

(1) Meaningful life

(2) Complete living

(3) Self learning

(4) Preparation for life

THER o FTHR e 1 gHsH e ?
(1) =nefer sited

(2) g S

(3) TE-sirfamH

(4) S I T
Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188

Question ID:- 48

Hidden Curriculum is
(1) Prescribed formal syllabus
Curriculum hidden in the text

4) Syllabus practised by school

STYhe qIEA=A 1 8 ?

(1) Tafea siro=nfr wreasFA
(2) urSEs H fodt g8 weTEE
(c

(4) fomnme gr =HeEd qIeusHhH

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

(2)
(3) Focus on informal gaining of values and beliefs
(4)

)
3)  SHITEIReE ®Y H gl AR AR i 9| W aa e s
)

Question ID:- 49
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(1) Emotional support
(2) Co - operation

(3) Sympathy
(4)

4) Empathy

FeTeh-aTfeeRTU. foRsirraen § Thel § #a e1iel T@d § 7

(1) Femmeds Hedn
(2) HERIE

(3) HeFHfd

(4) TUIHfa

Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
« 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

The boys and girls expect from school in the adoloscent stage.

Question ID:- 50

Moral domain category is :

(1) Nothing but responsibility

(2) Differentiating between right and wrong
(3) Feeling

(@ s

(1) =heel S
(2) HE IR T H favg T
(3) ST
(4) |G USH HE
Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
« 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 51
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is the behavioural trait in adoloscent.

(1) Frustration

(2) Mal adjustment

(3) Aggression

(4) Struggle with their identity

Freifera & & = forsirueren & saaereTs sifveao € 2

(1) e

(2) T HEESH

(3)  SATHTHRAT

(4)  ST9T SATEHAT T oieRT He
Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
« 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52

What is ‘Pedagogy’ ?

(1) Itis broad range of teaching methodology including assessment and instructions.

(2) Type of learning activity
(3) Group of teaching learning materials
(4) Lesson Plan execution

ot e ?

(1) I8 S ggfa =1 =mes 5 § 5o goie of s wifte 2
(2) I8 TF THR &l AfeE foran €1

(3) Toreor stferd Sl 61 9B

(4) 1S ASH T AR A St

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
« 3, Option ID :- 207,

« 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53
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Instructions in mother tongue at Primary stage of education deals under which Article of
Constitution of India ?

(1) Article 29

(2)  Article 510
(3) Article 350(A)
(4) Article 239

grerfirer =01 =t e F wrgumn 7 foreor = Seeng vRd dfaum % R emsee H 72
(1) STT=9% 29

(2) &HI=T 510

(3) =T 350(A)

(4) FHI=TE 239

Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
« 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

Learning space in school means :
(1) Well ventilated classroom

(2) Well set classroom with non-threatning environment
(3) ICT tools in classroom
(4) Comfortable desks

Thel H sifermy wom 8 i 7

(1) U9 AETIHR Ha

(2) ¥ UEd AE § geHated e iy
(3) & H I 3i HAR SrEnfieRt & e
(4) IRTHGE &R

Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
. 3, Option ID :- 215,

« 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55
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"Maturation” with reference to child growth is :

(1) Feelings

(2) Physical, Psychological and adoptive changes in childs growth
(3) Interest

(4) Emotion

A% & e & Feo o uftygemn’ = aerd frad 22

(1) =I3dfa
(2) e o foe H H IR, TEEwE SR sTge dedt ufted
(3) ®f=
(4) AR
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT21FEBSH1
Question ID:- 56

Which types of relationship enhances learning among teachers and students ?
(1) Social Relationship

(2) Official Relationship

(3) Emotional Relationship

(4) Cordial Relationship

sterTgeRi i faenfeli & forg v & geY & worawy sifuma &t eifigfg 2t €2

(1) gHIfSeR e

(2) WHHRE HaY

(3) HorTeHs HaY

(4) HrEEyY Hay
Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

« 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57
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"DIKSHA’ Programme by ministry of Education is about :

(1) Free uniform and text books in Primary education
(2) Digital Infrastructure resources

(3) Operation Black Beoard

(4) Universalisation of Primary education

e w3 gr0 wfafea ‘Sen’ swreiwy feifea § 9 feas a d €2
(1) wrafae fan 5 FH-ye IAEH R Teaq=eE 51 Iqeedd

(2) Tesliear S| 4 Hafyd HHY il Iqerem

(3) SIEE =% 918

(4) i T w1 HrE R
Options:-

.1, Option ID :- 225,

« 2, Option ID :- 226,

« 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 2, Option ID : -226

Question ID:- 58

The urgent requirement in schools with respect to Learning process as emphasised in NEP 2020
is :

(1) Foundational Literacy and numercy
(2) Scientific temper

(3) Numerical aptitude

(4) Critical thinking

gt fovem =ifa, 2020 # e1ferm uferan < Hay H el § fordent sifard-aremfares seavashal W 9 fea
TR ?

(1)  Ff=E |a 3K Heass

(2) B ggfa

(3) Hifers AfEf=

(4) HHTATEATHS TEAA
Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
« 3, Option ID :- 231,

« 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59
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What is informal education ?

(1) Education gained in spiritual centres

(2) Education given in Primary education

(3) Education gained through various sources in life
(4)

4 Education given in organised setup

FAToes e = g 2
(1) smenfcrss %= | W e
(2) wnafaes was | g e
(3) SiEa ¥ fafy= widi 9 ura e
(4) Hufea &9 H yra foren
Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
« 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60

What is ‘“Phonology” in Language development of a child ?
(1) Using grammar

(2) Communication
(3) Understanding rules
(4) Creating sounds at speech

T o o o ¥ ey faae e ?
(1) =TT = JAM

(2) =YW

(3) i =t wu=

(4) AT A IO B

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
« 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61
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What is Experiential Learning ?
(1) Group discussion mode of Learning

(2) Hands on Learning
(3) Informal Learning
(4) Sports integrated Learning

STVATHE A #1182

(1) wqE ¥ fausl & Ay 9 sAfm
(2)  ETi-gIY I St

(3) sHMEIE sfrm

(4) WA-THFRd ATTH

2

Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
« 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

enhances Learning in classrooms.

(1) Questioning technique
(2) Lecture methods

(3) Useof AV. Aids

(4) Use of Black Boards

Freifera ® 4 formd wan § wfenm &5t aifiafs €t 22
(1) 999 9B &l qAh

(2) = fafy

(3) 97 T IUHL YAN

(4) =AHATS H FAF
Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
« 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63
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Environment is an element of :
(1) Constructivism

(2) Realism

(3) Connectivism

(4)

4 Behaviourism

TR freiferd ® | fohwen stawE €2
(1) T=ER

(2) FenefarE

(3) WHHER

(4) SHARREE
Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

What is the purpose of Curriculam in Schools ?
) To standardize Learning goals

3

¢
(2) To conduct timely examination
(3) To achieve instructional objectives
(4) To complete syllabus in time

el § areF=El 1 = gAeH & 2
(1) AR A& 1 GHBIH]
(2) HAF T ] H1 SRS
(@) e e 5

(4) HHF T UGHFRH TR

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,

« 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65
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The meaning of Learning is :

(1) Achieving high academic excellance
(2) Gaining knowledge

(3) Manipulation of circumstances

(4)

4 Positive altered behaviour

sferme w1 Sy #
(1) 393 Stegfors el uTe

(2) I WS HAT
(3) uRfefaal =1 s@EeH
(4) HERHSE giEfda TEeR
Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Question ID:- 66

When the child is directly exposed to life situation, the learning is called :
(1) Natural Learning

(2) Connectivity Learning

(3) Experiential Learning

(4) Realistic Learning

9 I 1 Sitad i fafadi O seefea fran st § @ =g sifry e €
(1) Fenferes e

(2) HaF At

(3) SAWETHF AferTH
(4) T stfary
Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
« 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67
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NEP 2020, has modified the structure/Pattern of school education as :
(1) 8+2+243

(2) 5+3+3+4
(3) 10+2+3
(4 5+5+2+3

Tt fanan +Aifd, 2020 # el foan w5 @Ay gfaey 1 Feifed § § feg w9 d 3uiafa fmn w22

(1) 8+2+2+3
(2) 5+3+3+4
(3) 10+2+3
(4) 5+5+2+3
Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
« 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 68

By visiting a forest what the child will be able to develop ?

(1)  Self exploring capacity
(2) Thinking ability

(3) Power of expression
(4) Imagination Power

9 T Y91 HIA T STtk | A7 faeniEd grem/an ?
(1) S TN &Ha

(2) T e

(3) Afvyeafa T wfert
(4) ey Ui
Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

« 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

The main Professional responsibility of a headmaster apart from administration is :
(1) Supervision

(2) Liason with the authorities

(3) Controlling the school

(4)

Teaching
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(1) wHaEm
(2) wiferERIfEl & |19 o
(3) Temmerm = FrEEr
(4)  EAYA
Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

I % AR GUHTEATIE 1 G SEEiaE e €

Question ID:- 70

What may not be function of education ?

(1) Transmitting knowledge to the society
(2) Spreading orthodox and superstitions
(3) Transformation of society
(4)

4 Healthy society

Treifera & | o foren =1 &l & &1 WeRa1 € 2
(1) SIS H 3 &1 TR

(2) ey AR FUfavam™ = g6
(3) HHS I B
(4) = HEM &1 A

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE_Q71-Q80_PRT21FEBSH1
Question ID:- 71

Learning disability is called :
(I) Dysgraphia

(2) Dyscalcula
(3) Dyslexia
(4) Autism
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e -9 Eh_ﬁ'(_’lT?‘ﬁ % :
(1)

IELPIER]
2) Teuswegan
3) Temeifegan
) siifesH

(
(
(4
Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
« 3, Option ID :- 283,

« 4, Option ID :- 284,
Answer Given:- 3, Option ID : -283

Question ID:- 72

The community is an important Teachjng are Learning centre, why ?
(1) Extension of school activities

(2) Provides learning opportunities in real settings

(3) Substitute to schools
(

4) Informal learning source.

freifera § 9 form FRUEY THE™ T Heagyl e Y siferm o= 82
(1) %ha = FHEHAY H TERI

(2) 98 g s B erfermy 1 eTeaER w2 R

(3) % el o1 Wfqenfid ey |

(4) 98 SR StferTe 1 Hig §1

Options:-

.1, Option ID :- 285,

« 2, Option ID :- 286,

. 3, Option ID :- 287,

« 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

Which Ministry introduced ‘Manodarpan” scheme ?
(1) Ministry of Civil Aviation

(2) Ministry of Agriculture
(3) Ministry of Commerce and Industry
(4) Ministry of Education.
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forg Hamem 7 wARdu A s geRy fE g 2
(1) R fadqrH HJ3e™

(2) H i FuFH FeAm HACH

(3) SR SR IR T

(4) Teven Hame

Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
« 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74

Which one of the following is severe mental disorder ?
(1) Schizophrenia

(2) Anxiety
(3) Depression
(4) Bipolar disorder.
Feifera H | = TR AT faemr g 2
(1) Tasisfn
(2) gl
(3) HaHR]
(4) Tg-ydma fomm
Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 1, Option ID : -293

Question ID:- 75

(1) Sensory disorder
Social disorder

4

(2)
(3) Anxiety disorder
(4) Behavioural disorder.

The common mental disorder among children in the school is :
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el ATt/ afcsTstl § Sl FF 91 qEigs fawR S & @ ?

(1) FHfEa fasr

(2) HwHIfSE fawr

(3) gfe=d fasr

(4) HIBRIHS far
Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76

The root cause of mental illness among school children is :
(1) Heredity and Psychological stress

(2) Nutrition
(3) Home atmosphere
(4)  Peer behaviour

hell Il | AT B A HR0 G 2

(1) AFEfmE o TEEfE T e

(2) dwm

(3) & T TS

(4) HHHETT TR h1 HTRL
Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
« 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 4, Option ID : -304

Question ID:- 77

Which step would form intervention for Divyangjan ?
(1) Physical support

(2) Assess and Assist

(3) Emotional support

(4) Physical therapy
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Freifera & @ 1 f vee feerimsi & fog weder it 2

(1) wifeEr FeEa

(2) AT AR Al

(3) HoITHF HEAM

(4) v Tafewma
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
« 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78

How can Intellectual disability be identified in classroom ?
(1) Restlessness

(2) Loneliness
(3) Poor Comprehension
(4) Maladjustment.

ey | difge .96 # Te=H F9 &I S Gehdl § 7

(1) S

(2) STRETH

(3) =W SETET

(4) T:HARISH
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

(1) Counselling

(2) Medical intervention

(3) Frequent interaction with Parents
(4)

Integrating social emotional Learning.

To address mild mental health issue, what should the school do ?
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HAEe WA Haiyd Siel "l §He1 o fHan &g fomnerd =1 @ % =fey ?

(1) gEeE

(2) Tafee 3U=R

(3) HmEI-fudr ¥ < Hare

(4) GEISEF—HaTeHS AfHTH = T
Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
« 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

The role of Parent to address mental health issue among children is :
(1) Spending quality time with adolescents, enjoying shared activities
(2) Medical intervention

(3) Appointing counsellors at home

(4)

4 Parents should have awareness on adolescent issues.

ATeTeh] i AHTG Weed i gaen & frawer & wrar-fuar st e iy €2

(1) TR arcrsh/arfaerel o | QA FHEwar 5 10 8t 37 919 e THd Saaid Hl
(2) Tafe™ 3T=ER

(3) BR W TR @i g

(4) T-Toa i fopvirmeaeen § Heifem gt & aR § SHER e Ty

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 1, Option ID : -317

Subject : SOL_Q81-Q90_PRT21FEBSH1

Question ID:- 81

The vision and philosophy of a school will be reflected in .
(1)  School Prospectus

(2) Institutional Plan

(3)  School Development Plan

(4)

4 School Magazine
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Thel ht el e SR gweR e Freifea § | faad gwin smom 2

(1) THal i et

(2) e A

(3) femrmer fammy Frsm

(4) ThaA =k b
Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
« 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

A leader should be :
(1) Inspiration and Director

(2) Manager
(3) Producer
(4) Financier
ot S =t form wifmest # & =nfee 2

(1) YmEEs iR s
(2) HSHH

(3) wEferdl

(4) Ta= de

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

(1)  District collector

(2) School management
(3) Local authorities
(4)

4)  Pupils, teachers and parents

The Headmaster, to make proper planning will take the help of "
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g 3fEd 8 g=e e i & fon frgent gemm o ?

(1) T ot

(2) TS HEHT

(3)  EAT gIERRRET

(4) Torsa, syeaTgeRTY) AR - o
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
« 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 4, Option ID : -332

Question ID:- 84

The Foremost important character of a school leader is :
(1) Co-operation

(2) Qualification
(3) Conviction
(4) Aggression

fordt Tpet o1 9 A 9 =Afaa § Freifrd § 8 gaifues gecyol @ gatifeg o e e ?

(1) Heam

(2) AFFal

(3) Hehey wifekd

(4)  SATHIHRAT
Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85

As per the Idea of Transformational Leadership an effective leader should :
(1) motivate and inspires people.

(2) coach a person to realise his potential.
(3) set the pace for his own organization.
(4) provide General direction and tools for goal achievement.
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FUALH] e T STEURON & AR Tt Jar i

(1) < = et sir fa e =nfew)

(2) =T Tl ST &A1 & Qe @ fag Fifem S =t

(3) 19 T & HIeA % felu 101 g =i |

(4) & i A o o S e 3IR IRt S9ersy i =1fed |

Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86

Which is the essential quality of a leader ?

(1) Rigidity
(2) Inspiring others
(3) Accountability
(4)  Flexibility
Tordt Sy o1 s3framd o7 = B 2
(1) e
(2) o= AfFl =1 URE FHE
(3) ETERE!
(4) T
Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

« 4, Option ID :- 344,
Answer Given:- 4, Option ID : -344

Question ID:- 87

Among the following which one can’t be a Quality of Leader :
(1) Honesty and Integrity

(2) Confidence
(3) Lack of Confidence
(4) Accountability
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Freifera # 9§ s foradt e =1 Tqor 1Y &) HeRa 2

(1) 3HMEHI IR H fea
(2) fergem
(3) fawary =i i
(4) SEEEE
Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
« 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

What is the role of Headmaster as an academician ?

(1) To act as a mediator between students and teachers
(2) Supervision of school

(3) Bridge between student and management

(4) To Provide Academic and Administrative Leadership

e fefag & w9 § gumEATE F o it 2 2
(1) fommerEll 3R steamuehi & Ao Hegw H FE S

(2) THE H THAL

(3) faemeff iR yalem & wem Fg &1 A

(4) SFREMHE AR JUEHE Tg F&H B
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 4, Option ID : -352

Question ID:- 89

Key Phrase of pace-setter Leadership is
(1) Icando it better

(2) Let me teach you how it is done
(3) Let’s dream big and set standards
(4) I will give you the tools and autonomy to execute
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Tfa Uitk "gea #1 Heeayql ee ¢
(1) H 389 98 g1 H H TFHaA 5

(2) H STl S § 39 R faE S g
(3) THFE W ¢l i Hre fuif )
(4) ¥ g% Fare iR wErEdar §m ol o ST 51 |

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90

The Leadership which exercise minimum control is :
(1) Democratic Leadership

(2) Laissez Faire Leadership

(3) Authoritarian Leadership

(4) Personality Attributes of Leadership

1 gea fored =gram feso siafe 2 8, = fFtifna 3§ & @0 &2

(1) ErwdiE g

(2) STEEIAY g

(3) TEEWRT Ag

(4) FgEHTAl ok SAfdd o
Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Subject : PE_Q91-Q100_PRT21FEBSH1

Question ID:- 91

According to NEP 2020, ECCE stands for :

(1) Emotional Childhood Care and Education
(2) Elementary Childhood Centre and Education
(3) Effective Childhood Care and Education

(4) Early Childhood Care and Education
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Ty foreq ftfa, 2020 % AR €t | 0 fa @
(1) FHRFE 9EeIES FA UUS THHIA

(2) UEiH wETegE R e TIHIH
(3) THEE TETEEE F W THHIH
(4) el ETSES HA UL UIhy
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
« 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364

Question ID:- 92

The NCF 2005 was prepared by :

(1) CBSE
(2) UGC
(3) NCERT
(4) NIOS

T qrea= ® 9@ (THETE) 2005 fmaes grn dam faan o on ?

(1) =g meEaraes e e

(2) Tavafaene sT{EM M

(3) et ferforen orEYE SR wivemr gfee (T H € en )
(4) U g fammert e SemE (U9 AR 3 T)

Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93

RTE Act, 2009 come into force with effect from :
(1) 15t April 2009

(2) 15t April 2010

(3) 15 June 2009

(4) 1%t July 2010
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o =1 srfersRr erfafam, 2009 e | @r] g ?

(1) 1 319a, 2009
(2) 1 378, 2010
(3) 1 S, 2009
(4) 1 3@, 2010
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
« 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

The word NEP stands for :

(1) National Educational Policy
(2) New Education Policy

(3) National Educational Program
(4)

4 New Education Program

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95

RTE Act 2009, prescribes number of minimum working hours per teacher per week.
(1) 40
(2) 41
(3) 42
(4) 45
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T =1 safeer safafam, 2000 § free o fog gfa wwie =gAay feda = =1 fagor fFHaifa fem = g2

(1) 40
(2) 41
(3) 42
(4) 45
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
« 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

As per RTE Act 2009, no child shall be detained upto class :

(1) gth
(2) gth
(3) 7th
(4) gth

o =1 erferem safufee, 2000 % staR fersdt off o 1 foFm e 9% ‘amfaRe’ &1 9T @
T2

(1) 83 el deh

(2) 681 T TR

(3) 74 el dk

(4) 9l HaT TR
Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

If Professional Counsellors are not available in school at it may lead to :
(1) less participation in co-curricular activities.

(2) increasing mental illness among children.

(3) decreasing interest on studies.
(4)

4 low level of motivation.
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Ife el | ereEfae weseraed 1 Syersr Tal 81 o 39 uiumTEEy
(1) Te-ueT=[l wwad ¥ ggfita &7 2|

(2) @Terhi H AEfEs o (faer) sgmi

(3) faenfefd =t ver § = wfa anfi|

(4) 9T % T H B BRI

Options:-

.1, Option ID :- 385,

. 2, Option ID :- 386,

« 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98

NEP 2020, emphasizes mainly on :

(1) Functional Literacy and Numeracy
(2) Reading, writing and arithmatic

(3) Foundational Literacy and Numeracy
(4)

4 Understanding their mother tongue only

et forenr fitfa, 2020 # geTa: fFm a@ W ae femn &2

(1) YehTEicHs &R S SR

(2) USH, wET AR SR

(3) HfAE Hewd it SR

(4)  he YA HIGUTHT ol TS
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

Which section of RTE Act 2009, deals with School Management Committee ?

(1) 18
2) 19
(3) 20
4) 21
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(1) 9/ 18
(2) ©R 19
(3) HR 20
(4) =R 21

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

It is parent’s to send their wards to school as per RTE Act 2009.

(1) Responsibility

(2) Duty

(3) Right

(4) Option

e =1 sifepr aifufaam, 2009 % STHER A@-faa wyHt & fF 3 o1 TUgEh =1 aem A
A 9 |

(1) =i

(2) A

(3) R

(4) ===
Options:-

Subject : HINDI_Q101-Q120_PRT21FEBSH1

Question ID:- 101

i 2IR ISR H & gfte § Frefafe § e gm 2

(1) & - hed

(2) ¥ - e

(3) B- 9

(4) ¥ - 2T
Options:-

.1, Option ID :- 401,

« 2, Option ID :- 402,
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. 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

Question ID:- 102

.1, Option ID :- 405,
« 2, Option ID :- 406,
« 3, Option ID :- 407,

« 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408

Tr=fafad § d =1 gfte 9 21597 379 €
(1) |ga - SiifqarEes |3
(2 g B EEICETEE|
(3) 9@ - HfETEE "l
(4) wEem - SIfqarEes g
Options:-

Question ID:- 103

(1) TomEr=e forgmo

(2) uftEmETES fawmo
(3) HEAHE fagm
(4) HeaETEH oo
Options:-

.1, Option ID :- 409,

« 2, Option ID :- 410,

. 3, Option ID :- 411,

« 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

‘o7 T HE H GUH o § - A H {@ifRd v €

Question ID:- 104

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

« 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

foreafefad § o= =1 gfi § o g E
(1 =& - gt

(2) @& -  F

(3) TER-  TER

4 =& - wfed

Options:-

Question ID:- 105
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(1) =g - 56
(2) ST - 49
(3) 3IZ3ET - 58
(4) FTHS - 59
Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
« 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

Frafafeg § den i gfe 4 s/ g9 §

Question ID:- 106

(1) S+
(2) SI+¥
(3) S+F
(4) S+
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

« 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

‘TR’ v H Hge e F

O % A " SR

Question ID:- 107

Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,
« 3, Option ID :- 427,

« 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

(1) o - o, e, weTe

(2) e - e, geisH, Ared
(3) U — QI I, Hidl
(4) s - fag, =@, 5

Frafafag § waiart g it gfie | o/ma g9 §

Question ID:- 108
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(1) g - o

(2) oW - gaw

(3) Yl - WEHE

(4) e - S
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
« 3, Option ID :- 431,

« 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

foretm wrsdi 1 gfie & Freforfigs § srdma 37 & -

Question ID:- 109

e i gfe § frefafag § 6T gm 2
(1) qeuerEs - q, 3

(2) HayETEE - S, H, W

(3) sfe=FErE® - B, #A

(4) A== - I8, 5%

Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

frfafeg o fdn =t gfe @ s g § -
(1) Hret - Afed

(2) - U

(3) @ME - @

(4) S - HarEA
Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
« 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439

Question ID:- 111
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‘T8 G $F A goer & o § TEifed e

(1) TUrEr=es foemm

(2) HrEAHE fagmm

(3) uftHToETEe fowrsm

(4) HemEmEs fawmm
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
« 3, Option ID :- 443,

« 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112

(1) wIforee A 9= foran - =al &R

(2) T % fore gan & oTsil - HuSH FRE
(3) THY HEL H T - AfTH FH
(4) H93E 91 R gled oo - 0wk

Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 4, Option ID : -448

R Tagel it TggH &1 gfe § fFrfafed 9 srma s © -

Question ID:- 113

Fefafas | Sifdn I -
(1) TIEsh

(2 =@

(3) i

(4) T

Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
« 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114
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‘ 79 ST g SiTE @,

i gAR T wal |

e | Tl e |

S ey fmfem geayEs ok fRg ue | @2
(1) &9 & =" =

(2) @ =Rl

(3) fadeft oiR et

(4) Sed g
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115

(1) <& &1 9

(2) Sa=

(3) UH H¥ o @

(4) < 0 feqm
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

« 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457

‘TR iR S wree’  fafae g e ae F afm E2

Question ID:- 116

(1) dree wsn

(2) SEHAEE TS

(3) =iEe TS

(4) ddrEE TS
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
« 3, Option ID :- 463,

« 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

‘Ig Y T U8 % SR W g4y R Sl TR fassa o - TS w9 2
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Question ID:- 117

(1) TEE

(2

(3) U W s

(4 "I
Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
« 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

‘gl = |9l R’ 9IS F UR W IqRy, fF =i W ey 7 # 3m?

Question ID:- 118

HEEd 3R 9% o9 i gfe ¥ fefafed 8 SE-a1 s € 2
(1) =k off fasree - wigar fepemn

(2) e Gl - =R Tdl 9d S

(3) 2 % He H S B - TEvEshal sifus W fHer 9gd #H
(4) e aet @ig - fou & g H &9 Aar

2

Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

‘g ISR T TR ST 8 1 — 91 3 Wdifehd el § UeEd §

(1) T sy
(2) TeRmoo ugEy
(3) Toran forgroron yeay
(4) G EEY
Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

« 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120
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“dug R ifF i Moo e d gg € mH gg T ) Tdua F R U F YR W
FaRy fF o 39 YR 7 & 09 i agae ?

(1) 3Heh! STehIT 8l fret W off |

(2) 9% 99 FI S A1
(3) SHHI TS Ul &l A
(4) g9 H 99 @ A ok aR H SHH HIE FS T 6l o)

Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 4, Option ID : -480

Subject : ENGLISH_Q121-Q140_PRT21FEBSH1

Question ID:- 121

Read the passage given below and answer the question that follow :

At B Coffee House there was constant speculation about Selvi's early life.
Varma heard at the gossip table that Selvi had been brought up by her mother in a back row
of Vinayak Street, in a small house with tiles falling off, with not enough cash at home to put
the tiles back on the roof, and had learnt music from her, practising with her brother and
sister accompanying her on their instruments.

At this time Mohan had a photo studio on Market Road. Once Selvi’s mother brought
the girl to be photographed for a school magazine after she had won the first prize in a music
competition. Thereafter Mohan visited them casua]ly now and then, as a sort of well-wisher
of the family, sat in the single chair their home provided, drank coffee and generally behaved
as a benign God to that family by his advice and guidance.

Sometimes he would request Selvi to sing , and then dramatically leave the chair and

sit down on the floor cross-legged with his eyes shut, in an attitude of total absorption in her
melody.

Mohan came to know Selvi's family as
(1) a well-wisher

(2) a photographer

(3) a musician
(

ey

) her secretary

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122
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Read the passage given below and answer the question that follow :

At B Coffee House there was constant speculation about Selvi’s early life.
Varma heard at the gossip table that Selvi had been brought up by her mother in a back row
of Vinayak Street, in a small house with tiles falling off, with not enough cash at home to put
the tiles back on the roof, and had learnt music from her, practising with her brother and
sister accompanying her on their instruments.

At this time Mohan had a photo studio on Market Road. Once Selvi’s mother brought
the girl to be photographed for a school magazine after she had won the first prize in a music
competition. Thereafter Mohan visited them casually now and then, as a sort of well-wisher
of the family, sat in the single chair their home provided, drank coffee and generally behaved
as a benign God to that family by his advice and guidance.

Sometimes he would request Selvi to sing , and then dramatically leave the chair and
sit down on the floor cross-legged with his eyes shut, in an attitude of total absorption in her
melody.

He was attracted towards her
(1) family wealth

(2) looks
(3) music
(4) social status

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

« 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123

Read the passage given below and answer the question that follow :

At B Coffee House there was constant speculation about Selvi’s early life.
Varma heard at the gossip table that Selvi had been brought up by her mother in a back row
of Vinayak Street, in a small house with tiles falling off, with not enough cash at home to put
the tiles back on the roof, and had learnt music from her, practising with her brother and
sister accompanying her on their instruments.

At this time Mohan had a photo studio on Market Road. Once Selvi’s mother brought
the girl to be photographed for a school magazine after she had won the first prize in a music
competition. Thereafter Mohan visited them casually now and then, as a sort of well-wisher
of the family, sat in the single chair their home provided, drank coffee and generally behaved
as a benign God to that family by his advice and guidance.

Sometimes he would request Selvi to sing , and then dramatically leave the chair and
sit down on the floor cross-legged with his eyes shut, in an attitude of total absorption in her
melody.

Rumour was that !

(1)  Selvi was born to rich parents.

(2) she learnt music from established artistes.
(3) won prizes at music competitions.

(4) her mother was her music teacher.

Options:-
.1, Option ID :- 489,
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« 2, Option ID :- 490,
« 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492

Question ID:- 124

Read the passage given below and answer the question that follow :

At B Coffee House there was constant speculation about Selvi’s early life.
Varma heard at the gossip table that Selvi had been brought up by her mother in a back row
of Vinayak Street, in a small house with tiles falling off, with not enough cash at home to put
the tiles back on the roof, and had learnt music from her, practising with her brother and
sister accompanying her on their instruments.

At this time Mohan had a photo studio on Market Road. Once Selvi’s mother brought
the girl to be photographed for a school magazine after she had won the first prize in a music
competition. Thereafter Mohan visited them casually now and then, as a sort of well-wisher
of the family, sat in the single chair their home provided, drank coffee and generally behaved
as a benign God to that family by his advice and guidance.

Sometimes he would request Selvi to sing , and then dramatically leave the chair and
sit down on the floor cross-legged with his eyes shut, in an attitude of total absorption in her
melody.

Read the following statements :
(A) The family received advice and guidance from Mohan.
(B) He did not give them any financial assistance.

(1) (A)is right and (B) is wrong
(2)  (B)is right and (A) is wrong
(3) Both (A) and (B) are right
(4) Both (A) and (B) are wrong
Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
« 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125
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Read the passage given below and answer the question that follow :

At B Coffee House there was constant speculation about Selvi’s early life.
Varma heard at the gossip table that Selvi had been brought up by her mother in a back row
of Vinayak Street, in a small house with tiles falling off, with not enough cash at home to put
the tiles back on the roof, and had learnt music from her, practising with her brother and
sister accompanying her on their instruments.

At this time Mohan had a photo studio on Market Road. Once Selvi’s mother brought
the girl to be photographed for a school magazine after she had won the first prize in a music
competition. Thereafter Mohan visited them casually now and then, as a sort of well-wisher
of the family, sat in the single chair their home provided, drank coffee and generally behaved
as a benign God to that family by his advice and guidance.

Sometimes he would request Selvi to sing , and then dramatically leave the chair and
sit down on the floor cross-legged with his eyes shut, in an attitude of total absorption in her
melody.

‘...as abenign God. ..

The underlined word means the same as :
(1) handsome

(2) innocent

(3) kind-hearted

(4)

4) plain

Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126

Choose the word which means the same as the one given below :

Universal

(I) Admirable

(2) Particular

(3) Global

(4) Versatile
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127
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Tremendous
(1) Petite

(po]

) Tiny
) Colossal
)

(5% ]

4 Troublesome

(
(
(
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
« 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Choose the word which means the same as the one given below :

Question ID:- 128

Choose the word opposite in meaning to the one given below :
Adamant

(1) Additional

(2) Tenacious

(3) Unsure

(4) Overhead
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

« 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129

Choose the word opposite in meaning to the one given below :
Hoisted
(1) Lowered

(2) Hung

(3) Liberated

(4) Drilled
Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
. 3, Option ID :- 515,

« 4, Option ID :- 516,
Answer Given:- 1, Option ID : -513

Question ID:- 130
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[ am indebted to you for your help.

(1) Noun

(2) Article

(3) Preposition

(4) Interjection
Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
« 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 3, Option ID : -519

Identify the part of speech of the underlined word in the following sentence :

Question ID:- 131

Please return the book to me today .

(I) Noun

(2) Verb

(3) Adjective

(4) Adverb
Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
« 3, Option ID :- 523,

« 4, Option ID :- 524,
Answer Given:- 4, Option ID : -524

Identify the part of speech of the underlined word in the following sentence :

Question ID:- 132

sentence.

(A) for rowing

(B) offers facilities
(C) the lake

(D) as well as fishing
1) (©) (D) B) (A)
(2)  (© (B) (A) (D)
3) (A)(B) (©) (D)
@) (D) © B) (A)
Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
« 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 2, Option ID : -526

Choose the option in which the word/phrase given below have been rearranged into correct
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Question ID:- 133

sentence.

(A) Dbefore Daddy
(B) and putit

(C) this option
(D) do consider
@) (&) B O ©
2 (B) (&) (©) D)
3) (D) ©) (B) (A)
@) (D) (B) (©) (A)
Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
« 3, Option ID :- 531,

« 4, Option ID :- 532,
Answer Given:- 3, Option ID : -531

Choose the option in which the word/phrase given below have been rearranged into correct

Question ID:- 134

I have written a note for the meeting.

(1) A note has been written by me for the meeting.

(2) A note for the meeting has been written by me.
(3) A note for the meeting by me has been written,
(4) A note had been written by me for the meeting.

Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Choose the option in which VOICE in the given sentence has been correctly changed.

Question ID:- 135

Choose the option in which VOICE in the given sentence has been correctly changed.
A feeling of guilt will at last overpower him.

(1) At last he will feel guilty being overpowered.

(2) He would be at last overpowered by a feeling of guilt.

(3) Atlast he will be overpowered with a feeling of guilt.

(4) He will at last be overpowered by a feeling of guilt.
Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
« 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538
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Question ID:- 136

Fill in the blank in the following sentence with appropriate preposition.
I am surprised his audacity.

(1) on

) for
) of
)

at

2
(3
(

=,

Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
« 3, Option ID :- 543,

« 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Fill in the blank in the following sentence with appropriate preposition.
I will not do anything consulting you.

(1) without

2) with
3) on
)

(
(
(

=,

for

Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

« 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138

The king said to the jester, “I have often told you not to crack old jokes.”
Choose the option in which the above sentence has been changed into Indirect Speech
(1) The king told the jester that he had often told him not crack old jokes.

(2) The king warned the jester not to crack old jokes.
(3) The king told the jester that he had often told him not to crack old jokes.
(4) The king advised the jester that he had often warned him not to crack old jokes.

Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
. 3, Option ID :- 551,

« 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139

@ Teachingninja.in



Suvritta asked me where wouldl stay

(@) (b) () (d)
1) (a)
(2)  (b)
3) (9
4) (d)
Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
« 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554

Identify the part of the following sentence that contains an error.

Question ID:- 140

Identify the tense form of the following sentence.
Ram has always helped me.
(1) Simple Present

(2) Present Perfect
(3) Present Continuous
(4) Present Perfect Continuous

Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Subject : MATHS_Q141-Q160_PRT21FEBSH1

Question ID:- 141

() 99999
(2) 99965
(3) 99941
(4) 99802
5 - 371 1 TSI ¥ € GEm, S 139 | yuiaen fawfee &), 2
() 99999
(2) 99965
(3) 99941
(4) 99802
Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,

A greatest number of 5 digits which is completely divisible by 139 is :
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« 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142

The difference between the largest and the smallest 5-digit numbers formed by the digit
3,0,7,9,6is:

¢

(1) 67061
(2) 67051
(3) 66951
(4) 67951

i 3,0,7,9, 36 W o 5 i i 9t H 9 a B H DI HSAT H1 =K &

(1) 67061
(2) 67051
(3) 66951
(4) 67951

Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

« 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143

The next two terms of the pattern %, %; %,%,_ s are:
R
@ -
@ o
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Bl g T —
(1) %%

@ =

@ o
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
« 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144

Which digit will come in the place of x in the following multiplication ?
) X (3%5) =80730

f—t

(234
(1)
(2)
(3)
(4)

D= oD

4

91 A% B« % TIF W S § 8k ST 2
(234) x (3+5) = 80730

(

(2)
(3)
(4)

oo N D

Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
. 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145
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One of the side face of a cuboid is a square having an area of 36 cm? and the longer edge in each of

the four rectangular faces is of length 12 cm. The area of each of the rectangular faces (in cm?)
is :

(1) 36
(2) 54
3) 72
(4) 108

TS A1 1 UF UI¥e ol SRR &, Torgent &1t 36 cm? § 2IR Yo IR SIRITRR Telehl, & 98 fhar
F AEE 12 cm B 1 TS ATARR el 1 GT% (cm2H) ¥

(1) 36
(2) 54
(3) 72
(4) 108
Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
« 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146

How many line/lines of symmetry does the figure have ?

1 1
2 3
3 6
(4) 12
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& ¢ arepfa H fepat Tt Y@mia #/E ?

M 1
(2 3
(3) 6
(4) 12
Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
« 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

If Joseph runs 1 km in one round of a square park, then the area of the square park is :
(1) 1sqkm

(2) 1.5sqkm

(3) 4sqkm

(4) 0.0625 sq km

Ife ST T 9TiehR UTeh &1 U ekt o | 1 km SISl 8, A1 GeR 9T &1 S99%d © :

(1) 1km?

(2) 1.5 km?

(3) 4 km?

(4) 0.0625 km?

Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
« 3, Option ID :- 587,

« 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148

If the side of a square is doubled, its area becomes :
(1) doubled

(2) 3-times
(3) 4-times
(4) 8-times
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I T o7 = g AT L Gl S, d & 8 S

() =TT
(2) 3-7T
(3) 4-TW
(4) 8-T
Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
« 3, Option ID :- 591,

« 4, Option ID :- 592,
Answer Given:- 3, Option ID : -591

Question ID:- 149

A refrigerator is of capacity 270 litres. If itis 1 m high and 0.5 m wide, its depth (in cm) is :
(1) 55

(2) 65
(3) 60
(4) 54

U RS &) e 270 faex ¥1 AT 98 1 m ST 3R 0.5 m =ier €, 91 39! TeTE (cm H) ®

(1) 55
(2) 65
(3) 60
(4) 54
Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
« 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150

It is Monday on 9th January 2023. What day of the week is April 12, 2023 ?
(1) Monday

(2) Tuesday
(3) Wednesday
(4) Thursday
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9 SERt 2023 Sl GHAT & 1 12 379 2023 w1 shiEr feg g ?

(1) HHar

(2) HIASR

(3) F&aR

(4) FeHfdear
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
« 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151

A boy goes to School at a speed of 6 km/hr which is 4 km away from home and returns home at a
speed of 12 km/hr. The average speed is :

(1) 9 km/hr
(2) 8 km/hr
(3) 6 km/hr
(4) 10 km/hr

e faenefl 6 km/hr %1 =1a 9 forme™ S € S 39 SR8 4 km 1 g W B faeme™ 9 =R e 39y
3IGeT T 12 km/hr &1 S &1 SHT 3i9d =06 €

(1) 9 km/hr
(2) 8 km/hr
(3) 6 km/hr
(4) 10 km/hr
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
. 3, Option ID :- 603,

« 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

A bunch of 8 bananas costs T 24 and a single banana costs I 4.50. Raju purchased 66 bananas.
The amount of money spent by him is :

(1) T 297
@) 291
(3) %201
(4) T 198

@ Teachingninja.in



8 el 1 =BT T 24 1 AU T kel T 450 1 3@ 81 U 7 66 el @le | 394 S AR @H Fl, I8
®:

(1) T 297

(2) T 291

(3) ¥ 201

(4 T 198

Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
« 3, Option ID :- 607,

« 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

8.4 litre of a medicine is to be packed in small bottles of capacity 75 ml. The number of small bottles
which can be filled is :

(1) 100
2) 110
3) 112
(4) 120

T ears foee o1aae 8.4 foex &, &1 S1e1 siad] § W1 & 991 Siel siael & 33 75 felt feer g1 s/t
ST Wk Tl BT Saa] S G T

(1) 100
(2) 110
(3) 112
(4) 120

Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,
. 3, Option ID :- 611,

« 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154

In a school, 44% of the students are girls and the rest are boys. If the number of boys is 448, find
the number of girls in the school.

(1) 800
(2) 400
(3) 360
(4) 352
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e forner # 44% faenedl eeferai € qun 9w @ig § 1 afe sl =t §en 448 B, 1 foreem # @i i
demn e

(1) 800
(2) 400
(3) 360
(4) 352

Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,

« 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155

Sujata bought % kg of brinjals, 2 % kg of potatoes, 2 % kg of onions and 600 g of ginger. The total

weight of vegetables bought by her (in decimals) is :

(1) 59 kg
(2) 6.0kg
(3) 6.1kg
(4) 6.25 kg

I A % kg 7, 2% kg 31, 2% kg TSI 9811 600 UM 78T @El | Wl Fesil %1 YR (S¥Hee H)
?:

(1) 59 kg
(2) 6.0kg
3) 6.1kg
(4) 6.25 kg

Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 1, Option ID : -617

Question ID:- 156
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1 1T 25 .. .
5; 5; 3’ 6 when arranged in increasing order are :
1 1 2 5
(1) ey B e R
2 3 5 9
gy = 3129
3 2 5 9
1 1 5 2
(3) Sl T il
3 2 9 5
1 2 4 .5
(4) T T T =
35 2 9
1 1T 25 .
~, = = — WIaed HHH faET WIrd S € :
2°"3 5 9
1 1 2 5
(1) ey B e R
2 3 5 9
@ 1125
3 2 5 9
1 1 5 2
(3) Sl T il
3 2 9 5
1 2 4 .5
(4) T T T =
35 2 9
Options:-

.1, Option ID :- 621,
« 2, Option ID :- 622,
« 3, Option ID :- 623,

« 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622

Question ID:- 157

The product of two numbers is 1728. If their HCF is 12, Their LCM is :

(1) 160
(2) 144
(3) 136
(4) 120

T HEemstl # AT 1728 ¥ 1 Afe 37 SEmnsd %1 HCF 128, @ 390 LCM ® ¢

(1) 160
(2) 144
(3) 136
(4) 120
Options:-
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.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

« 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

1-243—-445—6+7—8+

(1) 60
2) 70
3) 75
4) 76

1-243—-445—6+7—8+

(1) 60
2) 70
3) 75
(4) 76

Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

« 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

+151 on simplification, gives :

+151 & | HT T I Bl B :

Question ID:- 159

(1) 80 cm
(2) 60 cm
(3) 20 cm
(4) 10 cm

sfereR Hye o ©
(1) 80 cm
(2) 60 cm
(3) 20 cm
(49) 10 cm
Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
. 3, Option ID :- 635,
« 4, Option ID :- 636,

There are three ropes of length 240 cm, 320 cm and 460 cm which are to be cut into equal lengths.
The greatest possible length of each piece is :

A el &1 @R 240 em, 320 cm 3R 460 cm T 3] U B X H Al ¢ | 8L IS di SAHF §
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Answer Given:- 3, Option ID : -635

Question ID:- 160

The number of 2-digit prime numbers in which digits are also prime is :

(1) 4
2 6
(3) 8
4) 21

21 3! arell YT Hemstl &1 gem, gl ofF off s A, §

(1) 4
(2 6
(3) 8
(4) 21
Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637

Subject : EVS_Q161-Q180_PRT21FEBSH1

Question ID:- 161

Below are two statements. Choose the correct answer from the given options :
Statement (I) : Natural fibres like cotton, wool, silk, nylon are obtained from plants or animals

Statement (II) : Synthetic fibres are made by human beings, that is why these are called synthetic
or man-made fibres.

(1) Statement (I) and Statement (II) both are true.
(2) Statement (I) and Statement (IT) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.

= < sy fou mu €)1 fou gu fasedl § § 98 W =979 F)

H/YT (1) : Wpfas 1, SY-FUE, A, T, TEe el sgen sigeii 9w 2§

HA (I1) : HIATTT W 7= 1 591 5 § | 3Hfa 4 geafud stean wee fafta W@ weed €
(1) =med (1) 2R (1) <H 9@ 1

(2) @A (1) 3T (1) <1 e B

(3) heM (I) Wl ¥, T HU (II) TTed ©

(4) R (I) T €, T R (II) TE 7 |

Options:-

.1, Option ID :- 641,

« 2, Option ID :- 642,
« 3, Option ID :- 643,
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« 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

Question ID:- 162

Given below are two statements. One of them is labeled as Assertion (A) and the other as
Reason(R). Choose the correct answer with the help of codes given below :

Assertion (A) : Some micro-organisms cause diseases in human beings, plants and animals
Reason (R) : Such disease causing micro-organisms are called pathogens
(1) (A) and (R) both are true and (R) is the correct explanation of (A).
) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
) (A) is false but (R) is true.

= 1 ey fau T F | U i rfireRe (A) SR gE I RWOT (R) AR | A fEu T e i ger
H HE IW I FR

AR (A) : T YasiE, T, Sigedl A gl 7 I 3o e 2
I (R) : W 3951 LA dlel UH Geosiial sl UMY A& TS $had © |

(1) (A) 3R (R) SF1 9& €, 3R (R), (A) & T&l =men i 2|

(2) (A) 3R (R) SFi 9& €, W (R), (A) i Tel AT TE FRA 2 |
(3) (A) 9& & T (R) T B

(4) (A) T €, 9 (R) HET @

Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
« 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163

Given below are two statements, one labeled as Assertion (A) and the other labeled as Reason (R).
Choose the correct answer with the help of codes given below :

Assertion (A) : Animals including humans cannot make their own food.
Reason (R) : Humans get their food from both plants as well as animals.
Code :

(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true and (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true
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= 1 ey fau T F | U i rfireRe (A) SR gE I RWOT (R) AR | A fEu T e i ger
H T IA H T HL

AP (A) :  TFH Afed Feft Siq 5H a9 § e €
I (R) : TS SO SIS G s1an Sigel A1 S 9 8 9 6 2

%< :

(1) (A) 3R (R) i |& &, 3R (R), (A) &1 Hel AT FL@ 2|
(2) (A) 3R (R) <1 T E, T (R), (A) Tt T A T HIAE |
(3) (A) ¥& g W (R) e 2

(4) (A) T4 €, W (R) TR B

Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
« 3, Option ID :- 651,

« 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164

Think about the statements given below and choose the correct answer with the help of given
codes :

(A) Process of removing weeds is called weeding,

(B) The process of removing seeds from the chaff of harvested crop is called threshing.

(C) Cutting of crop after maturing is also called weeding.

(D) Supplying of water at regular ime and interval is called irrigation.

Code :

(1) Only (&) and ©

(2) Only (A) and (B)
(3) Only (A), (B) and (C)
(4) Only (A), (B) and (D)

== fou o Ty W faER SR Fe F e 9 98 I F T A

(A) TEIFER g2H HI FRE e €1

(B) oI T wEE &% @ F dieii/gEl 1 T FA Ht ufemar B 9fgn Fwed €
C) A U % 915 39 el FRE o e 7

D) <fod T T Siee W e i set o e e 7

(1) wad (A) 3R Q)
(2) %FE (A) R (B)
(3) Ed (A), (B) R (O)
(4) )

4) Fad (A), (B) 3R (D)

Options:-
.1, Option ID :- 653,
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« 2, Option ID :- 654,
« 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 4, Option ID : -656

Question ID:- 165

Fruit is a ripened

(1) Anther
(2) Stigma
(3) Pollen
(4) Ovary
el U qRged gl
(1) R
(2) afds
(3) UUWTEHRT
(4) sfemmE
Options:-

.1, Option ID :- 657,
« 2, Option ID :- 658,
« 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 4, Option ID : -660

Question ID:- 166

Given below are two statements. One of them is labeled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of codes given below :

Assertion (A) : Sandy soil is well aerated

Reason (R) : The sand particles of sandy soil are very small

(1)  (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true and (R) is not the correct explanation of (A)

(3)  (A) is true but (R) is false

(4)  (A) is false but (R) is true

= <1 e feu U ¥ 1 U i SeRe (A) o gEY @ It (R) S T € | A U e e it s
Y & I T T B

AR (A) :  SeE 9e garfad e € |

TR (R) : TS T&T % HU BIE B 2 |

(1) (A) 3R (R) i W&l &, 3R (R), (A) &I F&l =0 L ¢ |

(2) (A) 3R (R) TFI TET €, TG (R), (A) T HE AT T HIA F |
(3) (A) W& €, 9%q (R) T B

(4) (A) 7TeTd B, 9 (R) Tl €
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Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
« 3, Option ID :- 663,

« 4, Option ID :- 664,
Answer Given:- 1, Option ID : -661

Question ID:- 167

Below are few statements related to air. Read them and choose the correct answer with the help

of given codes.

(A) Moving wind is called air

(B) Air expands on heating

(C) Air moves from the region of low air pressure to high air pressure.
Codes :

(1) (A) and (B)

(2 (B)and ()

(3) (A)and (Q)

(4)  Only (B)

= g A 2 F® Fud fou T E 1 5% 08 SR fou MY e i gerrd & wel IR H = A
(A) TIfefier wed aTg FHEe € |

(B) &R T B W Therd €1

(C) o/ Fae ¥ g T A1 & H 5 a1 T A & FI AR Fewd g 1

%< :
(1) (A) &R (B)
2 (B) ¥R (C)
3 (A) 3R (©Q)
(4) e (B)
Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

« 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665

Question ID:- 168

Below are two statements. Choose the correct answer from given options :
Statement (I) : Diarrhoea is not a fatal disease.

Statement (II) : Diarrhoea leads to loss of water and salts from the body.
(1) Statement (I) and (II) both are true.

(2) Statement (I) and (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.
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= < e fau mu €)1 fou gu fasredl § § 98t s@ & 99 i
WY (I) : < UF TAH SR TR

HeM (II) : T % FRO IR | o7t Ug gl i &1fd &1 5wt €1
(1) =her (1) 3R (1) SH 9& €1

(2) A () 3R (1) SHi e § 1

(3) A (I) T& B, TG HYA (1) TTed 2

(4) RA (I) O T, TG T (1) FE B |

Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

« 4, Option ID :- 672,
Answer Given:- 4, Option ID : -672

Question ID:- 169

Why are Pitcher plants heterotrophs ?

(1) They do not contain chlorophyll in their leaves.
(2) They do not get sunlight.

(3) They do not get nitrogen from the soil

(4) They do not get water from the soil

Fequil (fo=r whie) fammdrt == 2 8 2
(1) 3! il H seiriftee & g
(2) 3% gd = Vv T2 e

(3) % T H Az el fHedl|
(4) 3 9 H UHE 781 fHer |
Options:-

.1, Option ID :- 673,
« 2, Option ID :- 674,
. 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170
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Which of the following statements are true about Changpa ?
(A) Changpa are nomadic people

(B) Goats are their most important treasure

(C) This tribe is used to staying at a single place

(

D) Changpa rear special kind of goats from whom the world famous Pashmina wool is made

(1) Only (A)

(2) (A) and (B)

(3) (A), (B) and (O)
(4) (A), (B) and (D)

=i % R § Frefafag § § #9-3 ww wd ¥

(A) =T gEg A E

(B) LAl € Tk wad wEt Uit T

(C) o8 YN U e W fok o T arell SHenfa g1

(D) =TI @ T i TRl Trerd & | FSer ael | g it 7ergt e 3 o9t 2

) FAA (A)
(2) (A) 3R (B)
) (A), (B) 3 (C)
) (A), (B) 3R (D)
Options:-
.1, Option ID :- 677,
« 2, Option ID :- 678,
. 3, Option ID :- 679,

« 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171

Rakesh said that “I want to climb the Himalayas. I want to take training for mountaineering. I
have selected one institute - National Institute of Mountaineering for this “. Rakesh will have to go
to which district of Uttarakhand to register ?

(1) Nainital
(2) Almorah
(3) Uttarkashi
(4) Ranikhet
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TR T el g femrerd W =e | H Uete W Te & 2 o 9l § | 39 fore 19w HeyH, S
RN 31 A=At &t 997 foran &' ) Aiis & fore wehwr 1 Savae & g frer | s g 2

(1) A=
(2) oFeHET
(3) AR
(4) TAEd
Options:-

.1, Option ID :- 681,
« 2, Option ID :- 682,
« 3, Option ID :- 683,

« 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172

How does mosquito find a human being ?
(1) By the smell of human body.

(2) By their infrared eyes.

(3) By the flapping of their wings.

(4)

4 By the movement of human body.

=3 AWl I hY GE od § 2
(1) Fg= &% TR 7Y )
(2) AU TEEd STl 9

(3) 319 Gl Hl HSHSES H |
(4) HIAI % IR I Toad H|
Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

« 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685

Question ID:- 173

Choose the correct statement about weeds.

(A) Weeds grow in the fields without being planted.

(B) Itis important to remove weeds from the field.

(C) Weeds reduce the production of field by using the water and fertilizers given to the crops.
(D) Weeds do not affect the production of crops.

ey

L

e
= L 2
— e S e
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TYAIR & 9N T HEl HUF I F97 B

(A) TFER a1 de o799 219 € Sl § 30 o 7

(B) WIYAAR &1 Td ¥ freprer Sl e €1

(C) EaaR FHd & fa fu 70 wR-urt &1 I9ER T wHa S 3T FH F ST 2 |
(D) TRYTIR ! i ST hl FTfare &l L |
(
(

1) (A) ¥R (B)
2 (AR (O
(3)  (A), (B) &R (C)
(4) (A), (B) ¥R (D)
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
« 3, Option ID :- 691,

« 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174

Which of the following animals leave their herd after reaching the age of 14-15 and start living
alone ?

(1) Cheetah

(2) Tiger
(3) Deer
(4) Elephant

frefafaa § 4, SF-9 SFeR 14-15 9@ &1 37 & 91 2791 58 H SIS 3Fd T ol ¢ 2

(1) =i
(2) o™
(3) Tew=
(4) @
Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
« 3, Option ID :- 695,

« 4, Option ID :- 696,
Answer Given:- 4, Option ID : -696

Question ID:- 175
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Given below are two statements, one labeled as Assertion (A) and the other labeled as Reason (R).
Choose the correct answer with the help of codes given below :

Assertion (A) : Plants mostly get water from rain

Reason (R) : When it rains, plants seem to get a new look

Codes :

(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true and (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

9 & ey fau T F | U 1 rfireRe (A) R gE SRR (R) FE TR | A fEu T e i ger
H & I A =TI B

ReRe (A) @ US-TIHl 1 SR I e § frerar €1

I (R) : SR 31 & Ug-0e fger 33d ¥
%< :
(1) (A) @R (R) i @&l &, a1 (R), (A) F1 QeI =H7EA L &
(2) (A) 3R (R) S TE €, WY (R), (A) HI T& @ TE FLATR
(3) (A) U@ 8 W (R) T B
(4) (A) TEd ® 9 (R) T
Options:-
.1, Option ID :- 697,
. 2, Option ID :- 698,
. 3, Option ID :- 699,
. 4, Option ID :- 700,

Answer Given:-

1, Option ID : -697

Question ID:- 176

What are the State-run schools for ? Select the correct answer with the help of codes given
below :

(A)
(B)

So that all children get a chance to read and write
So that only people of certain communities get a chance to read and write

(C) So that only the children of the family living below the poverty line get good education
(D) So that everybody may get a chance to learn something from each other

Codes :

(1) (A)and ()

(2) Only (B)

(3) Only (C)

(4) (A)and (D)
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T gR Hafad hat frafan €2 & &1 7o 9 U8 Sar &1 997 H1 |

(A) R Teft =i 1 ggA-fera =1 wie et |

(B) e fak = wgerl & Anil &1 € uea-fam &1 gt fger

(C) ifer fadk el W o = Siteq et 3 ol IRarl o s=3i @i o=t e fiet |
(D) dfer Teft ol Th-gER ¥ FB-T-F© U@ o1 Hren et |

@)

(2

(3 F74 (©
(4) (
Options:-

.1, Option ID :- 701,
« 2, Option ID :- 702,
« 3, Option ID :- 703,

« 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

Think about following statements and choose the correct answer with the help of given codes.
(A) We learn many things from each other in a family.

(B) Itis the custom of every house to remove the shoes before entering the house.

(C) Some animals also live with us in our houses.

(D) Some animals also live in our house without our permission.

Codes :

(1) Only (A) and (

( Only (A) and (C)

(3) Only (A), (B) and (D)
(4) Only (A), (C) and (D)

Frafafad Fwaal W faEr w3k Fe & 98 9 W& 3T H 70T H
(A) TH IRER H UH-gH ¥ 9gd T HWiEd § 1

(B) [ STER SANHR & =R H STHI- I8 T =R 1 farst 21

(C) THR HY-H1Y F5 THAL T THR =1 H @d 2 |

(D) FD SFER FHRI IS o SR off 2AR 3 H Ted ¥

%< :

(1) &ae (A) 3R (B)
(2) @ (A) IR (C)
(3) % (A), (B) ¥R (D)
(4) FE (A), () ¥R (D)
Options:-

.1, Option ID :- 705,
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« 2, Option ID :- 706,
. 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178

Match the following :

(i) Lithos means (@) Vapour
(i) Atmos means (b) Stone
(i) Hudor means (¢) Life

(iv) Bios meaans (d) Water

(1) (@)-@), @D)-(b), (iii)(c), (iv)-(d)

(2)  (@)-®), ()-(a), (ii)-(d), (iv)-(c)

(3) (1)), ({D)-(d), (iii)-(c), (iv)-(a)

4 (@)-@), (D)-(c), (iii)-(b), (iv)-(d)
Frefafaa %1 faem #1 -

() fufa e ® (a) @S9
(i) THEH A (b) TR
(i) IR F1 AL (c) fred
(iv) =TErg =T g § (d) e
(1) (©)-@) @D)-(b), (ii)-(c), (iv)-(d)

(2)  (@)-(b), ({)-(), (ii)-(d), (iv)-(c)

(3)  (®)-(b), (i)-(d), (iii)-(c), (iv)~(a)

@) (@)-@), ()-(), (iii)-(b), (iv)-(d)
Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

« 4, Option ID :- 712,
Answer Given:- 2, Option ID : -710

Question ID:- 179

Which among the following is/are true in the context of Oceans ?
(A) Oceans are all interconnected.

QOcean water remains active only during the new moon and full moon.

D) The Atlantic Ocean is the largest ocean in size.

(1) (A) and (B)
(2) (B)and (C)
(3) (A), (B) and (D)
(4) (A), (© and (D)

(B)
(C) The three chief movements of ocean water are the waves, the tides and the ocean currents.
(
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Frefafad § 3 %A FeErRl & ged | ' § ?

(A) & TEEFR 09 H TH-gE ¥ 92 g

(B) TEMFRT Wil fadk sroreren iR yfvimr & guz & wfqefier war 21
(C) o, SR~ el 91 HerErTE SRTE YerMIHE Se i di g Tfad €1
(D) SR ¥ s1edifesh HeMrR Had 98] HelEre ¢ |

(1) et (A)3HR (B)
(2 9 (B) ¥R (Q)
(3) Had (A), (B) 3R (D)
(4) T (A), () ¥R (D)

Options:-

.1, Option ID :- 713,
« 2, Option ID :- 714,
« 3, Option ID :- 715,

« 4, Option ID :- 716,
Answer Given:- 4, Option ID : -716

Question ID:- 180

Think about the following statements and choose the correct answer with the help of given codes.

(A) The peninsula is a piece of land that is surrounded by water on four sides.

(B) Pakistan is separated from India by the Palk Strait.

(C) Local time changes by four minutes for every one degree of longitude.

(D) Large countries which stretch extensively from North to the South do not have a single
Standard Time for the whole country.

Code

(1) (A), (B) and (C)
() (A)and (B)
(3) (A), (C) and (D)
(4) (C) and (D)

i feu oAl T faam Y 3R Fe i FREdl § Hel ST H T Hi |
(A) TG, T H1 FF AT & S AR W Y o o € 7
(B) TR SeTETY YRA I WIfeFEdr & 1ol Hid B

(C) T 1° e o for Temra v & 4 fae &1 i 2ia g1

(D) =& &1 fofent fora ST & gferor il 3R wga ifres € € el R 291 1 9 GHF U e Sar ¢ |
%< :

(1) (A), (B) ()

(2) (A) SR (B)

(3) (A), (O ¥R (D)

(4) (O 3R (D)
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Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
« 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 3, Option ID

:-719
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